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1 Solve systems of linear equations using inverse matrices Example-1 -JUs+({1A,1B) 380
(A3g20a0) 1 gSas) ducuSall S gisaall pliiuly dudasll CYalasll Aakadl J> (1-8) 384
5 Find the midpoint of a segment on the coordinate plane Example-1 -Jis+(1A,1B) 407
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3 (16-23) 410
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4 Write equations of parabolas in standard form (1-4)
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Graph parabolas (5-8)
5 : 417
Wik A3 paladll Jukad (20-25)
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Write equations of circles
7 (2,3,12-17) 424
Plgal SYslas LS

Write equations of circles
8 (4,5,19-22) 424
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3 Represent and operate with vectors geometrically Example-1 -JUs+(1A,1B,1C) | 480
Lewutids Lgalieiuly Oilgaiall udad (1-6) 486
Represent and operate with vectors geometrically Example-3 -JUs 482
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13
Bu-gll Wlgxial Jas- 549938 doxis LHUS (28-35) 495
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§ Solve systems of linear equations using inverse matrices 6 i 3 ‘J ‘ Example-1 -JUs+(1A,1B) 380
(d3g0sn0)l ugSas) duSall B giuaall pluskiuly dudasell OYolasll daladl > 4 (1-8) 384
Use an inverse matrix to solve the system of equations, if possible. -O‘-’i O ¥ alagd l.[_ﬂ.'. Joud dewSal) 48 gaagl) p Adertaw!
2x — 3y =-—1
=3x + 5y =
1A. 6x+y=—
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1B. —3x+ 9y =36
7x — 8y =—19
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3. —3x+5y=33
2x — 4y = —26
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4. —4x+y=19
3x —2y=—18

oSl o) (¥ alagd! alAY o) dewSall dBgiagd! pudsuiul

5. 2x+y—2z=-13
3x + 2y — 4z = —36
x+6y—3z=12
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6. 3x — 2y + 8z=238
6x + 3y — 9z = —12
dx +4y +20z=0
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10. (20, 3), (15, 5) 1. (=27, 4), (19, —6) 12. (—0.4,7), (11, —1.6)
13. (5.4, —8), (9.2, 10) 14. (—5.3, —8.6), (—18.7,1) 15. (—6.4, —8.2), (—9.1, —0.8)
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Find the distance between two points on the coordinate plane
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18. (—6, —7), (11, —12)
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20. (4,0), (5, —6)
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23. (14, —20), (—18, 25)
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1. y = 222 — 24x + 40

2. y=3x2—6x— 4
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14. y=x2_8x+13

15. y = 3x2 + 42x + 149

17. y=_3x2_9x_6
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Write equations of circles
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Represent and operate with vectors geometrically % \ ‘ Example-1 -Jls+(1A,1B,1C)
S N7

Ll Igaluseinlg Olgaeiall Lidad

480

(1-6)

486

fel) il wass |

(b o0 S Wbl b eIy AL ilnoSl] 335

A5 km/h 48 s )8 s g

Al oladly B ghad 25w Jsada b

A ) e e paddi 0y e

(Bl qgiadl sladl B 15° 4l 3: 60 km/h A4S e b jbed) jued 1A

. 20.2 km/h As ye 5 pdlaa Jiud cOUaLlL 386 by 1B

A0 N W jlaka 5 g8 43Y j Jik ciaw 1C

125 N Lo jluzs 3420 asds g 3yiis

20 km/h ac s s LI

o yil) alsals 15 M/S ae s aS s J)52

136 km/h ac s 14833 o5 3ucld 3,5

di> o Jam 15N 55 5l

Ok 10

-ﬁm j

.H.V

@MUSTAFAALLAM

Agie pud BusS 4l dgonie LueS oA Wguo ga LS S OIS 13] Lo S5
i

25




B Iﬂ%ﬂ'ﬂ —
DR3¢

@MUSTAFAALLAM

Represent and operate with vectors geometrically ‘ Example-3 -JWs 482
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Solve vector problems and resolve vectors into their rectangular components )‘ Example-6 -JUs+(6A,6B) 485
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Represent and operate with vectors in the coordinate plane

Iy2lg Judad

g_ z wﬂ‘ ‘ Example-1 -Jis+(1A,1B) 490

(1-10) 495

EX. 1. A(—4,2),B(3,-5)

1ol Laa (S (B 4l g Ayl Uilali SUaaal) AB 48 jal) 5 gaall 22

1A. A(—2,-7),B(6,1)

1B. A(0,8),B(—9,-3)

O a8 dedl Blgally DIad) giladis AR dxigd) ludey 48 40 & )eall do

1. A(-3, 1), B4, 5}

2 A2, —7), B(—8._59)

3. A(10, —2), B(3, —5)

4. A(-2, 7), B(-9, —1)

5. A(=5, —4), B(8, —2)

6. A(=2, 6), B(1, 10)
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7. A(25, —3), B(—4, 1.5)

8. A(—423, 18), B(9.4, —6.2)

9. A3, -9). B(s,

N
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10. A( ) B(—1, 7)
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gl Oilgnial Jas- (348938 doeie HHUS ‘ (28-35) 495
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EX.5. D(—2,3),E(4,5) 5A. D(—6,0),E(2,5) 5B. D(—3,-8),E(-7,1)
28. D(4, -1, E(5, —7) 29. D(9, —6), E(-7, 2) 30,8637 11), E(—2, —8)
31. D(95, 1), EO, =7.3) 32. D(=3, —=5.7), E(6, —8.1| 33. D(—4, —6), E©9, 5)

.D(3.3), H~4, 2) |35 D=3 15, K-3,15)

@*‘@

u—'ﬁ‘@

@MUSTAFAALLAM —

35




Al @%@ :
Hﬁmi !w‘)_\dldﬁp n;’b"«h-tl};lg
050-2509447 e g
@M AR

a Find the dot product of two vectors and use the dot product to find the angle between them Example-2 -Jls+(2A,2B) 499
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EX.2. a = (—5,12) 2A. b =(12,16) 2B. ¢ = (—1,-7)
10. m = (-3,11) M. r= (-9, —4) 12. n= (6,12)
13. v=(1, —18) 14. p= (-7 -2) 15. t= (23, —16)
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Fsin 6 i} ' BF F
= _Dk ;

Fcos 6

proj;F
B 4 B A B
W =F+AB W = |proj;F|[AB| W = |F| [AB]
[0l k3 oz Jiid) Salasg W = |F|(cos8) |AB]|
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Use Cramer’s Rule to find the solution of the system of linear equations, if a unique solution exists.
—x—2y=—4z+ 12
Ix—6y+z=15
2x+5y+1=0
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4A. 8x + 12y — 24z = —40
3x—8y+12z2=23
2x + 3y — 6z = —10
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4B. —2x+4y—z=-3
Ix+y+2z2=6
x—3y=
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15. 2x—y+z=1
x+2y—4z=3
4+ 3y —7z= -8

16. a+y+z=12
bx —2y —z=16
3x + 4y + 2z=28
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17. x+2y=12
3y —4z =25
x+o6y+z=20

18. 9x + 7y =-30
8y +5z=11
—3x + 10z =73
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34. X2 + (y — 14)> = 144 5
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45. 2x2 + 2y2 — 4x + 8y = 32 5y
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Represent and operate with vectors in the coordinate plane Example-3 -Jls+(3A,3B,3C) | 491
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Write a vector as a linear combination of unit vectors Example-6 -JUs+(6A,6B) 493
Bu gl Cilgaxiel Jas 33938 doxie 4HUS (38-43) 495
SENS
(30)3W—(41)y—(2,5)_lu.b|4-03154_~
a w+y b. z— 2y
3A. 4w + z

3C. 2w+ 4y —1z
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h=(-6,2) 4 £=(8, 0), g= (-3, —5) du b Lua 35 o

M. 4h—g 12. f+2h

13. 3g—5f+h 14. 2f + g — 3h
15. f—2g—2h 16. h — 4f + 5g
17. 4g—3f+h 18. 6h + 5f — 10g
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lv| = 8, § = 45°

Iv| = 24, 6 = 210°

38. |[v|=12,0=60

39. |v| =4, 0=135

40. |v| =6, 6 = 240°

4. |v| =16, 6 = 330°

42. |v|

=28, 0= 273

43, |v| =15, 6 = 125°
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Find the dot product of two vectors and use the dot product to find the angle between them Example-3 -JUs+(3A,3B) 500
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3B. u=(9,5),v=(-6,7)
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16. u= (0, =5),v= (1, —4) 17. u=(7,10),v= (4, —4)

18. u= (-2, 4),v= (2, —10) 19. u=—2i+ 3j,v=—4i — %

20. u=(-9,0),v= (-1, —-1) 2. u=—-i-3j,v=-7i—3j

22. u=(6,0),v=(—10, 8) 23. u=—10i +j, v = 10i —5j
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